2.1.13 For 4
2.1.14 B5rIRE a2

FRREFBAR BB RE RS RA




-~ o B 5E X

[ 2.1.13 BB <

DRI

WA

2.1.15 o M T ERTHRE
FARZERAG T

o35 HEIR R
WAt EAR

M B LR X

> R R |

- BAEYIFRBEI T A

\ PN R 5]

U 32 B

2114 UABIRE 5o gmpmmseny
(BB TR

L Rifes B3I pil2-10

B EE DL 5o

| st

@

GERIHE

WA/

~ L2 > 45

XY




5I161: E G ERHE A ZREHRHHRE.
BIA K X 2R B X, + AX,
- IEFTEER A= x,°,

S AA = (Xg +AX)? — X§

= 2Xq - AX + (AX)“.
(1) (2)
(1) AxHIZME R %L HoAAAR) FE E IR 455,
(2) AXBIREBT T 7\ 2 AX IR /N AT 2B,
o)l MG ERB(HARENEERT)RT
i BB R EH A ?E %ﬁﬁ”ﬁnﬁ% o @ 6




)| 45 X
E X B y=f(X)TEXSEHIBEE Ay = AAX +0(AX),
FHAAANER, WK y = f(x)7E X AT .
TMAAXFR Y = f (X)EXHI 7 BN
dy |x=x, = AAX.

ENT1H: (1) dyR HEEK B EAXFI LR
(2) Ay —dy = o(AX) R AT M T2 55 /),

(3) HA = Onf, dy S5AyREZEM T8 55 /N

Ay 0(AX)
..._=1
dy +A-Ax > 1 (AX_)r,(;)\)mm

—



(4) AR S AXERKIE R, B ST (x)Mx,HFK;

(5) HAXR/NEF, Ay = dy  (£R1:EED).

® 0 ® am



0

g Y= TOOEXEAIH <
y = f(X)TEX AL AT F, Bf'(x) = A

iEBH: = W f(X)7E x AL RT3,
Ay = Abx+0(Ax), DY = A4 OA%)

AX AX
o lim 2 = im A+ 2B A
Ax—>0 AX  Ax—>0 AX
B F/(x,) = A.

sy = f(X)E XA F, H (%) = A
@ @ » ®



=B y=f(x)7E x 0, N

lim 2 = £/(xo).

Ax—0 AX

AX—0

NI] Ay _ f'(xq)+a, H lim a=0,
AX

Ay = T'(X)AX + a - AX = T'(Xy)AX + 0(AX),

sy = F(X)7E X AL T,

® o 6 ot



dy [y=x,= f'(X)Ax  dy=T(X)AX=
#1. ¥ y = x, 3K dy.

i cy'=1 - dy=Ax = dx=Ax.
BEMBTEXNIBEEAFRABETENRR,
1I2{Edx, HPdx = Ax.

Fr A4 T AR T

dy |x=x,= f'(Xp)dX
dy = f'(x)dx = y'dx

sdy = fi(x)dx. == gy= f'(x).

X
Bl eR BBy sdyS BE BRSO BFT
ZERBRSFH SHBM R

@ @ » ®



P
(D)—TT R AT S 5 R AT Y.
()P 5 BIPIAF R AR

dyEAxH] £k M R 4], ELAy — dy = 0(AX);
dy=AYHI FEEFB 5, HAy —dy = o(Ay).

UEBA: ( )
lim Ay—dy _ lim Ay - T (X)AX= im| 1= () -0
Ax—0 Ay Ax—0 Ay AX—0 Ay

\ AX /

(Bt xE X5 i8R BUE B Al i, R H

lim Y= _ o mmmar

Ax—0  AX @ @ 5 60




i B s

MQ = AXx, NQ = Ay,

tana = f'(X)

dy = F'(Xy)AX
= MQ - -tana
= PQ

mmmTas s

O/

HAYRE

2R IR B Y B

dymitfE V) AR ARXT BL 1 &




— sy zﬁi&%w

(1)d(C) = 0dx (2)d (x*) = px**dx

(3)d(sin x) = cos xdx (4)d (cos X) = —sin xdx
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